PLACEMENT TEST
LEVEL: B1
1. 
A. I lives in my parent’s house currently because they need my help. I hope to move back to my flat very soon.
B. I was living in my parent’s house currently because they need my help. I hope to move back to my flat very soon.
C. I am living in my parent’s house currently because they need my help. I hope to move back to my flat very soon.
D. I had lived in my parent’s house currently because they need my help. I hope to move back to my flat very soon.

KEY: C


2. 
A. If I have been you I would not treat me the way you do.
B. If I were you I would not have treat me the way you do.
C. If I were you I will not treat me the way you do. 
D. If I were you I would not treat me the way you do. 

KEY: D


3. 
A. I am so thirsty now. I want something to drink.
B. I am thirsty now. I am wanting something to drink.
C. I am thirsty now. I have wanted something to drink.
D. I am thirsty now. I wants something to drink.

KEY: A


4. 
A. Maria thinks about selling her car.
B. Maria is thinking about selling her car.
C. Maria think about selling her car.
D. Maria thinked about selling her car.

KEY: B


5. 
A. I hear some noise. Listen!
B. I am hearing some noise. Listen!
C. I had heard some noise. Listen!
D. I hears some noise. Listen!

KEY: A

6. 
A. His mother called while I were feeding the baby.
B. His mother called while I fed the baby.
C. His mother called while I am feeding the baby.
D. His mother called while I was feeding the baby.

KEY: D


7. 
A. He is playing football since the age of seven. He is 33 now and is still very active.
B. He was playing football since the age of seven. He is 33 now and is still very active.
C. He has been playing football since the age of seven. He is 33 now and is still very active. 
D. He have been playing football since the age of seven. He is 33 now and is still very active.

KEY: C


8. 
A. How long have Harry and Sally been married? They are still together and they seem to be so happy.
B. How long are Harry and Sally married? They are still together and they seem to be so happy.
C. How long were Harry and Sally married? They are still together and they seem to be so happy.
D. How long has Harry and Sally been married? They are still together and they seem to be so happy.

KEY: A


9. 
A. My God it is 10 o’clock already. Did you see Mary this morning? I need her desperately.
B. My God it is 10 o’clock already. Had you seen Mary this morning? I need her desperately.
C. My God it is 10 o’clock already. Have you seen Mary this morning? I need her desperately.
D. My God it is 10 o’clock already. Were you seeing Mary this morning? I need her desperately.

KEY: C




10. 
A. When I arrived to the party Tom already went home, so I couldn’t see him.
B. When I arrived to the party Tom had already gone home, so I couldn’t see him.
C. When I arrived to the party Tom was already went home, so I couldn’t see him.
D. When I arrived to the party Tom has already gone home, so I couldn’t see him.

KEY: B


11. 
A. On Saturday at 7 pm he will have dinner with his girlfriend’s parents.
B. On Saturday at 7 pm he has had dinner with his girlfriend’s parents.
C. On Saturday at 7 pm he is having dinner with his girlfriend’s parents. 
D. On Saturday at 7 pm he are having dinner with his girlfriend’s parents.

KEY: C


12. 
A. My train leaves at 11.30, so I need to be at the station by 11.15.
B. My train is going to leave at 11.30, so I need to be at the station by 11.15.
C. My train will leave at 11.30, so I need to be at the station by 11.15.
D. My train are leaving at 11.30, so I need to be at the station by 11.15.

KEY: A


13. 
A. Did you phone Jack? Oh no, I forgot, I phone him now.
B. Did you phone Jack? Oh no, I forgot, I am going to phone him now.
C. Did you phone Jack? Oh no, I forgot, I’ll phone him now.
D. Did you phone Jack? Oh no, I forgot, I phoned him now.

KEY: C


14. 
A. Sarah and I have decided to have a party. We will invite lots of people.
B. Sarah and I have decided to have a party. We’re going to invite lots of people.
C. Sarah and I have decided to have a party. We is going to invite lots of people.
D. Sarah and I have decided to have a party. We invite lots of people.

KEY: B


15.
A. We must keep this a secret. You not tell anyone. You are strictly prohibited.
B. We must keep this a secret. You should not tell anyone. You are strictly prohibited.
C. We must keep this a secret. You oight not tell anyone. You are strictly prohibited.
D. We must keep this a secret. You mustn’t tell anyone. You are strictly prohibited

KEY: D



16. 
A. Do you think I ought to apply for this job?
B. Do you think I ought apply for this job?
C. Do you think I ought applying for this job?
D. Do you think I ought applied for this job?

KEY: A


17.
A. In the United States elections for president are hold every four years.
B. In the United States elections for president are held every four years.
C. n the United States elections for president held every four years.
D. In the United States hold elections for president every four years.

KEY: B


18.
A. They asked me where was I going.
B. They asked me where I was going.
C. They asked me where are you going.
D. They asked me where I were going.

KEY: B


19. 
A. I really enjoy read, but I haven’t read Ulysses.
B. I really enjoy to reading, but I haven’t read Ulysses.
C. I really enjoy to read , but I haven’t read Ulysses.
D. I really enjoy reading, but I haven’t read Ulysses.

KEY: D


20.
A. When we were younger we were used to live near the centre, but later we moved to the suburbs.
B. When we were younger we use to live near the centre, but later we moved to the suburbs.
C. When we were younger we used to live near the centre, but later we moved to the suburbs.
D. When we were younger we are used to live near the centre, but later we moved to the suburbs.

KEY: C


21.
A. My neighbour has just had a traffic accident in London, because he is not used to driving on the left.
B. My neighbour has just had a traffic accident in London, because he did not use to driving on the left.
C. My neighbour has just had a traffic accident in London, because he has not used to driving on the left.
D. My neighbour has just had a traffic accident in London, because he are not used to driving on the left.

KEY: A


22.
A. The exam was so difficult that nobody passed.  
B. The exam was so difficult that anybody passed.  
C. The exam was so difficult that nobody didn’t pass.  
D. The exam was so difficult that nobody did passed.  

KEY: A

23.
A. I really enjoy living in Budva because few friends I have here are the best.
B. I really enjoy living in Budva because much friends I have here are the best.
C. I really enjoy living in Budva because the few friends I have here are the best. 
D. I really enjoy living in Budva because any friends I have here are the best.

KEY: C






24.
A. Is your friend British or American?  Either. She’s Australian.
B. Is your friend British or American?  Neither. She’s Australian.
C. Is your friend British or American?  Any.  She’s Australian.
D. Is your friend British or American?  Both. She’s Australian.

KEY: B


25. 
A. Hi Joe. I did not expect to see you. Sonia said you were in the hospital.
B. Hi Joe. I did not expect to see you. Sonia said you are in the hospital.
C. Hi Joe. I did not expect to see you. Sonia said you had in the hospital
D. Hi Joe. I did not expect to see you. Sonia said you were being in the hospital.

KEY: A


